Unit 7 Problem Set 4

1.  3.6 moles of Al reacts with 5.3 moles of Cl2.

2  Al (s) + 3 Cl2 (g) → 2 AlCl3  

a.  What is the limiting and excess reagent?

b.  Calculate the amount of product produced.

2.  6.4 moles of H2 reacts with 3.4 moles of O2.

2  H2 (g) +  O2 (g) → 2 H2O 

a.  What is the limiting and excess reagent?

b.  Calculate the amount of product produced.

3.  .480 moles of P2O5 reacts with 1.52 moles of H2O.

2  P2O5 (g) + 6 H2O (l) → 4 H3PO4 (aq)

a.  What is the limiting and excess reagent?

b.  Calculate the amount of product produced.

4.  14.5 moles of P reacts with 18.0 moles of O2.

4 P (g) + 5 O2 (g) → 2 P2O5 (g)

a.  What is the limiting and excess reagent?

b.  Calculate the amount of product produced.

5.  Calculate the mass of water produced from the reaction of 24.0 grams of hydrogen gas with 160.0 grams of oxygen gas.  2 H2 (g) + O2 (g) → 2 H20 (g)

a.  What is the limiting and excess reagent?

b.  Calculate the amount of product produced.

